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abc.cde@come = =0tk 2 0l =2 LICH
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HAREE S 0HAI 2: abedefrg
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IHARAEE = 0otAI2: abbabbb1
HARAEE HO= W2 XS JHMOF & LICH
IHAR=E ZEotAl2: abbbabbaA1
HE0 X= WAA=LICH

CPU= F12| 2 XRID?
eots A AotAl 2(5E = quit): Central Processing Unit
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s1 ="Hello’

s2 = "Hello"

s3 = "This is Kim's dog."
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s = 'This is Kim\'s dog.’
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>>> print(r'This is Kim\'s dog')
This is Kim\'s dog

AN r0] 20 U= A SAE0|D| HE20 OIS BHESHAIE 2
ANEo A2 F 2tFSH0H S H=SHAIE 01 AH O E 22X 2 F 2
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Al 2K %8 r'C:\User\Kim\Document'2} 22 &R I} B2 E
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[6:10]
® 1 2 3 4 5|6 7 8 9 1o 11
Mlon|t]y ply[t][n[o]n
B o RN 7 g -5 -4 -3 -2 -1

[-12:-7]
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>>> g = 'Monty Python'
>>> s[0]

IMI

>>> g[-1]

"
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>>> s = 'Monty Python'
>>> 5[6:10]
'Pyth’

>>>t = s[:-1]
>>> t
'Monty Pytho’

>>> t = [-2]]
>>> t

on

>>> s = 'Monty Python'
>>> g[:2]

‘Mo’

>>> s[4:]

'y Python'
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>>> s = 'Monty Python'
>>> g[:2] + s[2]]

'‘Monty Python'

>>> g[:4] + s[4]

'‘Monty Python’

>>> message='see you at noon'
>>> |ow = message]:9]
>>> high = message[5:]
>>> |ow

'see Y’

>>> high

'ou at noon'




indt not in S9AFAL
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>>> '"Hello' in 'Hello World'

True

>>> "\WORLD' in 'Hello World'
False

>>> "\WORLD' not in 'Hello World'
True
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>>> name = 'Kim'

>>> age = 21

>>>'Ij| 0|2 "'+ name + ' LICH. ="'+ str(age) + '& 2 LICH.
'Hl OlS2 Kim LICH M= 214 LICH!

>>> name = 'Kim'

>>> age = 21

>>>'H 0|82 %s2LICH M= %s&t 2 LICH' % (name, age)
'H OIS KimLICH M= 214 LICH
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>>> name = 'Kim'

>>> age = 21

>>> f' il 0| &2 {name} LICt. M= {age}at & LICH
'M Ol&S2 KimLICH M= 21& LI CH.
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>>> 'apple' < 'banana’
True

a=input(= Xt

b =input('2 At

ifla<b):
print(a, "Jt &0l JUS")

else:

print(b, "Jt &0l JUZS")
ZAE= LS0HAI2: apple
A2 Y E0HAIL: orange
apple Jb &0l JUS




ﬁ Example: 28 A7
L A

(palindrome)2 222 S{2Lt F
E =W A ‘'mom’,‘civic’, ‘dad’ S0| 3 & .
E Aot E )8 s &H0H0 2 AL,

AEs g2 320X E &

ol
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otAl2: dad




g Example: 218 A7
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if(s==s1):
print('2l = & LI C}.")
else:

print('2| = 0| Ot LICE.")
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strip()

endswith()

split()

join()

index())

replace()
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upper()
>>> s = 'Breakfast At Tiffany'

>>> s.upper()
>>> s = 'Breakfast At Tiffany'

>>> s = s.lower()

'BREAKFAST AT TIFFANY"
'breakfast at tiffany’'
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& lower () Arg A

[ ENES
30

print(H S H=EHAIZH R7')
response = input()
if response.lower() == "yes".

print( HIZ = A= LILLY
else:

print(CLIS0ll &£ 21 R.")

HY=S HSGHAIAHR
Yes
H L= H =gl Ch.
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>>>'HELLQO'.isupper()

True

0.
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>>> 'hello'.islower()

True

0.
0}
o
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]

>>> 'abc'.isalpha()

True

True

Il

>>> 'abc123'.isalpha()

False

>>> "abc123".isalnum()

True

True

#= AHE 0]

>>>"'123".isdecimall()

True

True

>>>'\n'.isspace()

True




while True:
print(ME22 IMAREE &
password = input()
if password.isalnum():
break
print(Z= At2t = Xt2= 0| E0t0H INARKIEE HEHGHAI L))

_](Tl

USHAIQ (2 XS £ XHEH DbS))

MZ2Z IHAREE HEAGIAIL (A2 = AEt It S)
password7$$$

Z A2t = XetS 0
MZ22 HARIEES
password’/

HAOJ':E HEHGHAI L.
|2 (2 A2 = XtEF Dt

JQ Ol
ol
> =

OIF




gstartswith()QF endswith() SIAE

startswith(s)= S XE sZ A& T = SXE0lH Truedt UJ_%%' Ct.
endswith(s)= 2AtE sZ2 55l = AE 0[S Truedt BHatEICE

>>> 'Breakfast At Tiffany'.startswith('Breakfast')
True

>>> 'Breakfast At Tiffany'.endswith('Tiffany')
True
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print(SHtE Lt O

input(' Lt Ol
if s.endswith(".py"):

else :
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=
(=)

=0

=
|

print('S bt

tAl 2: aaa.py




split(0% 27FC] EOHOH

o split() =0l =0HA =2l AHE OlSotH 2AE=S E252
AEZ Bratsttt
E2xi§ 0|5/0] X% S
crofg= Wi ict

P

! @ = [ 'welcome', 'to', 'Python' ]

=

"Welcome to Python' w

strip()

1% 9.3 split() &=



& split02 DAte] Hepor

>>> s = "Welcome to Python'
>>> s.split()
['Welcome', 'to', 'Python’]

>>> s = "Hello, World!'
>>> s.split(',")
['Hello', ' World!"]

0K

SBOEAl Ml HotA S

>>> s = "Hello, World!'
>>> s split(', )
['Hello', 'World!"]




splitOE DAFS] HO{OFT|
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Hdd 2= 0IF0Y =MES
Ct.

=4 Zcdlot=0l T split() )t A==

>>> |yric = "'Silent night, holy night
All is calm, all is bright

'Round yon virgin Mother and Child
Holy infant so tender and mild
Sleep in heavenly peace"

>>> |yric.split(\n')
['Silent night, holy night', 'All is calm, all is bright', "Round yon virgin Mother and Child',
'Holy infant so tender and mild', 'Sleep in heavenly peace']




>>> list('Hello, World!")
[IHI, lel, III, III, 'O', l,l, ] l, IWI, 'O', lr.l, III, ldl, l!l]




>>> ' join(['apple’, 'grape’, 'banana’])
‘apple-grape-banana’

>>>""join(['My', 'name’, 'is', 'Kim'])
'My name is Kim'

"2 & 41

ANEES EEUCH

"
.
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=

["apple”, "grape", "banana"] W »

P——

"apple,grape,banana”
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>>>"'-'join('010.1234.5678".split("."))
'010-1234-5678'

Ol
o

=A== 20tA LAl 2AE 2 2= X join()= At Ct.

>>> g = 'hello world'

>>> clist = list(s)

>>> clist

[Ihl, lel’ ||l, III’ 'O', ] I, 'W', 'O', Irl, ||l, Idl]
>>> " join(clist)

'hello world'
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>>>""join(‘'Actions \n\t speak louder than words'.split())
'‘Actions speak louder than words’




strip(2% 4 920 MIHOH|

o strip()2 AIFOILI 20l 3% = At A= M = A4E S BHatatLt.

Ok

>>> s ="' Hello, World!''
>>> s.strip()

'Hello, World!'
A AXS 2 ERFE9)
SHUS HAHELCE
Hello, World! " p @ =>  "Hello, World!™

strip()

T2 9.4 strip() &4



ﬁ strip(22 18 97

strip()2 A &O0ILE 20 S8 S AHJF &

MO

| —

>>> 5 = "##$$$this is example$$ '
>>> s strip('#9')
'this is example'

>>> s = "HH#HESSthis is example$SSSH#A
>>> s Istrip('#')

'$$3this is example$SS##!

>>> s.rstrip('#')

"#H#$$$this is example$$d'’




& ord()2F chr() UI;Q

ord() =5 AtEotd 2 A2 ZEgisE LA =E == UL
>>> ord('a')
97
>>> ord('It")
44032
chr)= ord()2l BtCH J|sS =St =<kt 8t n= A EotH, n0fl ol

gote = AS BHatatLt.

>>> chr(97)
Ial

>>> chr(44032)
'jl"




& len() ©i2
O
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>>> s = 'Python is powerful!'
>>> print(len(s))
19

str(obj)2 24l 2] 2AtE Hal = graretlt.

>>> str( 1+2) )
(1+2))
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find() Bt = S X OHOIA S CHOIE ROIA QT AS bt

= S
A 2= FR0= 1= Etetstlt.

>>> g = 'www.naver.co.kr'
>>> g find(".kr")
12

s.rfind(<sub>[, <start>[, <end>]])= S =2 =2 EAtE CtH A HAHEZ
& A SHLE,

>>> g ="Let it be, let it be, let it be'

>>> s.rfind('let") # 2SO ZOHAEEH EAHSHCE

22




APl O] "7
A A

count() &= S AE SO0A SHIt S&Eot= =5 Btetstlt. .
>>> g = 'www.naver.co.kr'
>>> g.count('.') # SOt S&otl= &+ Btatstlt.
3
HE WHE

replace() &= = AEUH M ofLI2l HHE UE ©
ArZ ettt O

>>> s = 'www.naver.com'
>>> s.replace('com', 'co.kr") #otlte HHE LIE H
'www.naver.co.kr'
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02| 2 At0{(acronym)= NATO(North Atlantic Treaty Organization)
He 2 HOe H2NE 20t Bt 2 AHE 01 L.

ZAE = & 0HAI2: North Atlantic Treaty Organization
NATO

phrase =input('2AtE S 2 E0tAI2: ")
acronym ="

# Uiz Bte =0 HHES= Ec2letih

for word in phrase.upper().split():
acronym += word[0] #HHE R =XBHE acronym0l =Dt8HCE.

print( acronym )
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ol

OlHlY =AE 2 &HotAl2: aaa@google.com
aaa@google.com

Ot0|Cl:aaa

& 0l 2!:google.com

ol X A

address=input('OlHl & F=AE LSEGIAIL:)
(id, domain) = address.split('@'

print(address)
print("Ot0| Cl:'+id)
print(' = 01 21 :'+domain)




ol X2 1= M EX
XM 2 XHE: Hello World!
& BM =XE: How are you?

s2=input('s

list1 = list( set(s1) & set(s2) ) #NEZ B
print(\n=S & 2l = A}, end=""

foriin I|st1

print(i, end="")
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ol




POIAH Al random() = - dd S+==A S22 OTPE A
F‘_ O At=2E == QUL sample()= AtEotH 2 AE 0 A X & =
J =Oo| 2AE ot UE == UL

import random

s ='0123456789' # U =2 AE

passlen =4 #INARIE Z0|
p = ".join(random.sample(s, passlen ))

print(p)

3482
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def checkNumber(phoneNumber):
if len(phoneNumber) != 13:
return False
if phoneNumber[0:3] !'='010":
return False
if phoneNumber([3] !='-"
return False
foriin range(4, 8):
if not phoneNumber]i].isdecimal():
return False
if phoneNumber[8] !="-"
return False
foriin range(9, 13):
if not phoneNumberfi].isdecimal():
return False

return True
print('010-8888-6666->', checkNumber('010-8888-6666'))
print('000-1111-abcd->', checkNumber('000-1111-abcd"))

010-8888-6666-> True
000-1111-abcd-> False




g A{IA|Q AFQBFO] ADIER E{Y Ap)
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HAAAUHA \d= = XAHE 2|0I8tCH 874 "010-\d\d\d\d-\d\d\d\d“ 2
Ol ™ checkNumber() & =)} =2et 4t S st AH= & == ALY

import re

pattern = r'010-\d\d\d\d-\d\d\d\d'
found = re.search(pattern, 'Ml S & B S = 010-1234-5678 L|LC}.")
print(((&2 A= S B <: '+ found.group())

010-8888-6666-> True
000-1111-abcd-> False
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\d 2%t 3t Ho| SAfQ} U
\w SX}et 24} 3t Ho| ALY S} U
\s =R} T B Z6E, H2IK|2IE SXRt UK
[abcle a E= b E= c& UEHHD [a-z]s afH 27X 52
oKt ER, 2R e | i
’ siLt, [1-9)i= 1526 7KK 9| SIS LIEHACE
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abc & 2t5] “abc” 2t 2 2 X[ = CF.

. stAtelel A HE =HA "A”, 17, “Y,
\d\d\d 3XEle =Xt E =0 A 0107, “123”

[a-Z] as B zALO| 2| &t = A2t € X

\w StXte|l = AL ==Xt HE =HAM 87, “A”

Ja

rol



AMTIAIO] ABF OFA{A
{121 2% opg
.00/
o 7t Heldllll= HEt2 AL 70l =& et d AH(quantifier)E €& = U
Ch 22 BETIE 2X 1 2 ¢ BHE e LS LLEHHCTH
=& gHEx} 7ls =L
. 03] Ol Bis “a”"E ", "a", “aad’, “aaa"g& LEHACH
+ 1=] O] ‘at’E "a’, “aa’, “aaa"s LIEHHC
? 0E=13] a?’'= ", "a’& LIEHHCE
{m} m] a{3)" &= “aaa”Ct LIEHACE,
{m, n} m&| 0|4 n& 0|5} a{1,3}"E “a”, “aa”, “aaa"E LIEHACE,
(ab) g3t (ab)*2 *”, “ab”, “abab” 52 LIEHHLCY,
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. A[1-9][0-9]*$

o MNd{6}-\d{7}$
» (Good)?Bye
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“X-Men: First Class®, “X-Men: Days of Future Past”, “X-Men Origins:
Wolverine” 1} 0 & =I C}.
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import re
f = open(‘uscons.txt')
for line in f:
line = line.rstrip()
if re.search(**[0-9]+, line) :
print(line)
f.close()

1. Neither slavery nor involuntary servitude, except as a punishment for crime
2. Congress shall have power to enforce this article by appropriate
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& 5gl.

import re
pattern = r'’"\w]+@[\w]+\.[A-Za-z]{2,4}$'

def checkEmail(emailAddress):
if(re.fullmatch(pattern, emailAddress)):
print(f"{emailAddress}= & =t Ol |
else:

email = "abc123@gmail.com”
checkEmail(email)

email = "abc.cde@com”
checkEmail(email)

print(f'{emailAddress}= = S0l Al =2




IARES A2 G40 &
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M T otLES CHE Ab

=0 & BtLEel £ X
IHAREES LE0tAl2: abedef
AR E= F A4St 82KXt0|{ OF & LILCH.
AR EE LS 6HAIL: abedefrg
IHARIE= B & otLtel =AE JHMEO0F & LICH
IHAREE 2 =E0lAI2: abbabbb1
HHARE= HHE (2 XHE JHEOF & LICH.
IHAREE EotAIL abbbabbaA1
&0 %= AR ERKLICH




Sol.

import re

def check():
while True:
password = input("IH AR EE LESHAIL2: ")
if len(password) < 8:
print("If AR &= F A8 82 XtH0I O OF & LICL")
elif re.search('[0-9]', password) is None:
print("IHAR}|E= B X otLEel == XHE JHA OF & LI CH.")
elif re.search('[A-Z]', password) is None:
print(("IHARE= 8HE W2 XS JHAH OF & LICHE")

else:
print(" 7 & 0l = MASISLICE")
break

check()







& 5gl.

text data ='Create the highest, grandest vision possible for your life, because you
become what you believe'

word_dic = {} # OIS 8 3142 H&otle 9AHUHCIE MY
for w in text_data.split(): #EEAESE =2 Z2lot Bt= 6Tk
if w in word_dic: # CHOOEOI0I S U0 /[T
word_dic[w] += 1 # =0 8 1 SItsHC.
else: # M2 U ®HHO0IH 12 =D|5StC.

word_dic[w] =1

for w, count in sorted(word_dic.items()): # 912 g2 A &5t Bt= X2l stLh.
print(w, 'Sl S &3 ===" count)
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CPU= 2312 2FXHRIDL?

g ots A HoHAl (5% = quit): Central Processing Unit
Ag2LICH

MY He T2 ooj=?
got=2 S HoAI2(E = quit): THOI M
N CI—OlLl [:I.
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